esker

Part # Product/Service Name QTY Torque
1 Frame 1
2 DS Frame Weldment Dropout 1
3 NDS Frame Weldment Dropout 1
4 M8x1.25 - 12mm 4 12Nm
5 Esker DS Sliding Dropout 1
6 Esker NDS Sliding Dropout 1
7 M4x1.25 - 25mm 2
8 Axle 1 9-13Nm
9 M8x1.25 Thin Hex Nut 4
10 M6x1.0 - 18mm Hex Flat Head Screw 2

#8




